ZERbIT oty 2z —[EIRD 202445820
SH6EE
EXE 48 5H 6 A 7R 8 A 94
28 |ERas(R| ERE ke |ERa(R) | BINE (ke) |Eias(R) | ERE (k) [ERaR)| BEUE ke) |ERA%(S) | EIRE k) |EuRsk(R) | EIRE (ke)
e 63 9.18
AV ARRY
65 13.72
FES
i) 7 2.9
BELT o 0 0.58
B 3 1.62
BElE N 58 20.26
BEF 284 40.86
Z D 15 30.36
B 495 119.48 0 0 0 0 0 0 0 0 0 0
FRAAEK 20
EIXE 10A 11A 12A 1A 2 A 3 A =
28 |EREsE®] ERE ke [mRas)| BE ke [ERas=) | mnE ke [Emssn)| mine ke [mrasm) | mng ke |[Exsas)] @Re ke [mmam)| @inEke)
it 63 9.18
TRz 65 13.72
FES
L7 2.90
WELT 0.58
BroR 1.62
BELE S 58 20.26
BEF 284 40.86
Z D 15 30.36
= 0 0 0 0 0 0 0 0 0 0 0 0 495 119.48
FRAAEK 20




A b=A—» =7 U FBFEEEIIS 20245428
SH6FEE
EUR 4 A 5 A 6 A 78 8 A 98
28 |ERAs(R) | ERE(ke) |ERAH(R) | EURE (ke) [EMUAH(R) | BURE (ke) |[EURA(R) | EURE (ke) |EURAH(R) | EURE (ke) [EMRAH(2) | EIRE (ke)
s 14 2.44
1oz 32 5.1
3
C7 26 7.48
AT, 5 0.6
aRp 5 1.82
AR 41 14.46
BET 21 2.1
Zoft 0 0
&5t 144 34 0 0 0 0 0 0 0 0 0 0
EllE 108 1158 125 18 2 A 37 &5t
28 |Exase) | EREke) [ERE%R) | FEREKke) [EREKGR) | BRE e [EiRazR) | EREKe) [mRa%k(R) | BREKe) [EiRa() | ERE (e |[ERA%(2) | EiREKe)
s 14 2.44
oAz 32 5.10
F B8,
1) 26 7.48
TS, 5 0.60
aRp 1.82
AR 41 14.46
BET 21 2.10
Zoft 0 0.00
&5t 0 0 0 0 0 0 0 0 0 0 0 0 144 34




A b—3—H F—/NEEERS 20245428
SH6EE
R E 4 A 55 68 78 8 A 9A
ME |EREE(R) | EURE (k) |EMAE(R) | ENE (k) |ERES(R) | EINE (k) |EURAE(R) | EURE (kg) [EUMRSAH(R) | EURE (kg) [EUREH () | EIURE (kg)
e 3 1
7
9 2.2
LS
7Y 2 0.7
WEHT 3 0.2
Bk 30 7.7
SRR 6 1.9
BETF 2 0.2
Z oM 0
&t 55 13.9 0 0 0 0 0 0 0 0 0 0
R & 10A8 11A8 12A 15 2A 3R &t
BB |ERRE(R) | EURE (kg) |ERSE(R) | EURE (kg) [EIRR% () | EURE (kg) |EMRSH(R) | EUNE (kg) [EURA#(R) | BURE (kg) |EMXSE () | EUNE (kg) [ERS#(R) | EURE (kg)
e 3 1.00
oAz 9 2.20
P Em
g2 2 0.70
WEHT R 3 0.20
Bkt 30 7.70
SRR 6 1.90
BEF 2 0.20
Z Dt 0 0.00
&5t 0 0 0 0 0 0 0 0 0 0 0 0 55 13.9




